Mean Spectrum Continuum Lightcurve
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RMS Spectrum BLR Lightcurve
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4 = 0.017(18) x = 0.918(79) => 0.918(79) u = 0.0164(71) x = 0.913(20) => 0.913(20)
rm542 med(mad) A, rm542 med(mad) AC,
L — T — T T T T

N ER e SIS I AU I T ]
b, mim
[ n..LhuJJ"'hUM il |

-
N g L™

x B e i v X >
i B | Illnp’ n L I)“Hm]p Ny N 1 |
2y ' T v - m Tn 1- E-Im:‘ 1I 3 (=} __ _-

RL T v

PR T F IR Wy (TR el Ja Ll e ks L e " - .y w
O BT T T T P P TRy PO IOT Y Y Y Ty SV FyRe p o !I = L — = ¥ i

A - R — A - A - 1]
1500 2000 3000 2o iB.00 7000 7500 8000 8500 9000, . ..
A (R) z = 1.82356 MJD — 2450000



